2207

& % : =—F7n~=v b

T F . NW—30

1.9y FMRE(=Z—F2)Ly b+ N—20)

HEIEHE B i A& HRFEE HER A&
= x mm 20 LI E JISL 1096
=1 1 g/m 850 LA I JISL 1096
> 180 UL L )

5| 5k & & N/5cm = 100 CLE JISL 1096

. =T 10 Lk :
{eR [0} % = 5 ILE JISL 1096

2.7y MR (=Z—FI)ILTy b+ NN—10)
HERIEB B I SIS HRREE AERAE
£ = mm 10 YL E JISL 1096
=1 = g/m 550 LLE JISL 1096
7-T 250 UL E _.

5| ik 5% & N/5cm = 120 DLE JISL 1096 w#m

, 7= C 25 ULk :
{eh v % = 25 DLE JISL 1096 et

3. MR BILE_—ILHEERA)
AEIEBE B i K IE
HERRE mm 3.2
CI N/mm? 290~540
K E
4 #4
NN—10

N—20




